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COMPREHENSION

Direetions @ [n this sacction you have a feiw sphor possapes. After each passage, you will find some ifems

based on the passage, First, reod o passege and answer the items based on (. You are reguired fo select

Jotir angivers tosed on the confends of the possage and apinion of the author only

Pasaage - |

Not all
civilizations, but o
without pasging through the stage of agriculture,

societies becomse

o civilization can become

.ugru'u]hlrnl

This i because at some stage in the development of

agriculture, as productivity improves, not all people
would need fo be engaged in producing or procaring
food. A significant number of people could be froed
up to pursie other activitios such as building walls
or monuments for new cities; making new fools,

2.

weapons and jewellery, organizing long-distance |

trade; creating new artistic masterpieesd; coming up
with new inventions; keeping accounts; and perhaps
oometrocting new public infrastrocture such as
canals  that further tho
productivity of agriculture, thue realizing even mare
people to do new things.

irrigation i prove

This ean happen, of course, only if a society
that bhas transitioned to  high-productivity
ngriculture has also, at somee stage in its evolution,
found a way to channel the bonanza of free time
into other work fruitfully, In the ancient world, this
often involved creating new ideclogies ond new
hierarchiss or struciures o
otherwise convince large groups of people to devote
their time to the new tagks for very Little reward,

e coEnce 4T

1.  Which one of the following statements is true
apcarding te the author 7
(]  Agriculture has slways been part of all
cvilizatione
(h) . Not all civilizationa have undergone the
processes of agriculture.

el Agriculture hirth to
civilizitions

Bave TLEw

(d} Communities diseontioued agriculture
to become civilizations

PLKI-F-EMNG
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A significant nomber of people wern sent to
carry out other work from agriculture because

il

141

there were insufficient agricultural
products.

people WEre nesdied tis build
monuments, weapons, jewellery, ele,
there ' were  sufficient  sgricultural
products.

thie enabled ths -:ii:\u*[qurnq:tll:. of
civilizations.

What kind of agricultore based societies
would emerge as civilizations 7

(k)

id)

Societies which achuievied h:F"h
productivity in agriculture had the

opportunity to find time for other work,

Societies which depended on agriculture
completely moved {0 other froitful work
B a8 to move to many places,

Sonmoties which transitioned from one
stage of agriculture to andther
Bocioties which sould nol do pgricalture

for lneck of resources moved to other
Wilf‘k

FPeople as groups wore convinesd te do new
work through

(al reward, fiorce and O Uity
|J&|‘5uqt|:i|:-ns_.

ib) ideologies, hierarchies and power
Btructures,

o] exeessive agricultural prodocts.

{di  wvery high rewards,

Which word im the pAESAEE  MEAns

‘changeover' 7

tal Transitioned

(b} Channel

ie} Coercs

{d} Hierarchiss




Passage - 11

When we pick up a newspaper, o book, or an
tack wath
preconceptions and predispositions. We expect 1o

article, wo come to owr certain
find o specific picce of information or be presented
with an srgument or an analy=is of something, say,
the likelihood of recession in the next six months or
the reasons why children can't read We probahly
know a little about the book or orticle we are
reading even before we start. There was, after all,
gome reason why we chose to resd one pecs of

writing rather than another,

Oar  ex |:|r.|,:|‘.u1.:i|.||:|.'-| ard Ilrﬁjiﬁpl,:lu.iLiq_:ln.:! LAY,
howrever, blind us to what the article and its aathor
iz actually saying. If, for example, we are used to
dizsagresing with the author, we may see only what
we expect to see and not what is actually there, Day
after day in gpur routine pattern of life we expose
ourselves to the same newspaper, the same
magazing, even books by authors with the same
pergpectives. In order to reflect on our reading
habits and improve our skills we need to break out
of thia routine, step back and look at what we are

doing when we read.

i According - to the sauthor, which one of the
lollowing statements is aod true ?

ial Reader's preconceptions influence thedir
reading.

ib) Headers have sxpectationa when they
riad nn articls or a book.

ic)  BReaders look for specific informetion in
any of their readings.

{dt Readers assume that evervihing they
read will bave new information.

PLKI-F-ENG
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Dur expectations and predispositions. mey,

howewer, blind ua because

(A

b

Ll

{dl

we may not gei the ectusl ideas of the
authaor.
win will ideas of the

got the actoal

author.

we may disagres with the suthor,

wie will agree with all the ideas of the

author.

Cme of the ways to improve our reading habits

15 o

LA

break the routine by changing the time
of reading.

change the types of topics we read.
break the routine of reading the same
RCWSEpET

stop reading for some time and then

reatart reading.

Which quality does the suthor here advocats,
to be a good reader ?

(n) Being oblective to the ideas of the
author

(b} Having preconceptiong T |
predispositions

(e} Henng contimsous roatom

idy Disagresing with the author

Which word in the passsge means

“ewpointa' 7

(&l
ik
Lo}

(el

FPreconceptions
Predispositions

Fatitern

Perapectives




SPOTTING ERRDRES

Directions; Each ttem in this section hos o sentence with three underlined parts fabelled aa fal, (&) ond (ol
Read eqcl sentence to find out whether there is any error in any underiined part and indicole you r response
on dhe Answer Sheel against the corresponding lefter e, (ol or (&) ar fol, I vou find po error, your response

should be indieaded as (dl,

11. After nI}'ELﬂT'El:IUEl]-’ E!l-'.j.'la.l:l.lli.l'.g for decades, Antarction’s seq ice cover Eba rl'.inﬂ |:|'||:|]‘|.:i|1;|: Mo arror

(mh (b} [zl (d}

12, The auction, conducted by the bank, will be price based using multiple priced methed, No error

(al {b] {ed idi

18, [the +Eﬂ:|I:;_|-_uxﬂ!!|] have been implemented effectively all affected would heve benefitted. No error
{a) ik leh (d]

14. OGovernment Stock offers safety, liquidity and sttractive mturned for long duration. No arror

=rrr=srg i

lal Lbi (e id)

15. Serolling thoroogh my social media timeline, [ hovered over a video of o minor road traffic accident,

(i ki [eh
No error
Idl

16. The fascination with gold at least seems to be & case were traditional belief and
l&l (ki

modern finanee would point the same way. No errar
gh ()

17. Evolutionary biology leave us distinctly pessimistic about the possibility

(&) (lal

that altruiam can arise naturally mm ong humans, Mo arror

il i}

18, 1_;1"'1'1'.'11 overything starts working for you, you will find  things are achieve and delivered.

{m) {hl Ll

Mo error
id)

18. I 1wereyou I would not go for change of job, Mo error
fa) i e} (dl

20. Atthe beginning of the n_|n_nmr:n!:h century, female literacy was extremely lowed

fal ik
in comparison to male Kleracy. Mo error

T

(g} (dl
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ORDERING OF WORDS IN A SENTENCE

Direetions: Each of the folloiing dems in this section consiets of a senfence, parlst of whisch have heen
Jumbled, These parts have been labelled aa P, §, R and 8. Given below each senitence are four sequences,
aamely fal, (B, (o) and (d), You are required fo re-arrange the jumbled parcts of the sentence and mark youwr
response aecordingly,

21. forlengand the backbone of India  will continue to be the same agriculture has been

P i ] 5
(n} SPQR
ithi BQPFR
(e} QRSP
idy QSRP
22. the ery of general public sgenda in any country public policy making is generally driven by
P o R g8
(n) RQEP
ihl RPSQ
el PSRG
id} QREP
28. before it starte  of the government is  the essential power the power to manage conflict
P =] K 8
(a} RESPQ
bkl EBQRP
(il RSP
dy QRSP
24. a majority of the vote the party that received  of the government  must take contrel
P Qg R 5
(el QPSR
iby PSRQ
{e) RSPQ
{di B5QFR
25. can expressa view on  in which the electorate a particular issue of public policy
F Q R
a referendum is a vote
B
fa} SQPR
by RPQS
LEl QREF
(dl PQES
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28. in modern societies or ||||=ru]:,: .-:uj:g:-rl::-::-;n:_'d: hie eloss conflict been resolved

P ] K 5
{a) RPSGE
ib} ERSPG
(el PRSG

(d} QRSP

27. several of our food are being extensively cultivated and vegetable crops  hybrid varieties of
e % ke i : =
n} GRESFP
b} EPQR
ek FHS
id} BPRQ

28. agamstthe officer reason for the accusation there ahould have been
P Q K

who was in-charge atl that time

=

ta) HPSG

b} RQPS
ey PQRS
| |:i ) -qFH-u

20, poetryis and idens powerful feelings  the spontancous overfiow of
P TR R s Ve

(a) SHQF

by PQRS

(e} RSQP

dy FPSRQ

80,  historical idontity and 8 common descent  a group of people s called an ethnic group

P Q R
who ghare a common culture.

2

lay GSPR
(h} GQRPS
(] PSOR
{dl RQPS
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IDIOMS AND PHHASES

Directions: Civen beloww are some idiomef phrages followed by four alternotive meanings to each, Choose

the response (o), ), () or (d) which tz the mosf appropriate expression and mark YOUF FEEPOTRSE IR tha

Anzwer Sheet accordingly

31. A poper tiger 38,
{a} Person or organisation that appears
powerful, but actually ie not
(b} Person or orgamsation that acta like a
tiger
[ig} |'e|;|];|!|:_' whi -::|:|n||.|:3.i.|q'J:| for the protection
-Il-r r.i EI:"! rs H-T_
) A daredevil
38, Lify-livered
(a) Brave and courggedus
(b} Not brave
e Comical
{d} utrageciis
3. Eotlikea trivd 38,
(a) Eatfast
(b} Eatwvery hittle
(e} [Eatalot
idl Pretending to be sating
B4. Thedoy davs 9.
{a) Days celebrating dogs
(b} The bitter days
(g} The hottest days
{di The coldest dmya
38, A bonara repubilic
il A smsll or peor country with a weak
govErnment E1i
(b} A small or poor country which produces |
hanana
(e} A country which has boon occupied by a
bjg country
{d) A country without any government
PLEI-F-ENG (T—A)

The proz and cons

{al  The good and bad parts of & sitaation
(bl Like and diglike of 8 situation

(] A bad experience in an event

id! A good mament of an event

Prime the pump

ia) To do something in order to make
something suceeed

(b Todo pood things to succeed in life

(e} To do something in order to get bad
thi FEH i

{d) Asking people to do things te make
something succeed

The grean-eved monster

(ml Feeling of being joyous

(b} Feeling of being jealocs

(el Feeling bad aboat happenings
id) F'E-L-I_i_n_g luck ¥ ahout M:-l:'l:'l.1.'-t|1.i.|!1.|.'.['

Rise to the ocoagion
al To ecelebraite a
situation

success oA difficult

ib} To regret a situation which ended in
fmilore

(P To succeed in dealing with a dafficult
situation

(dl To motivete people io
diffieult sitwation

suicceed in B

Calf it o day
[} End of the day

by Completion of work

(e} Stop doing seméthing
{d) A beautiful doy




DRDERING OF SENTENCES

Directions: In thiz section pach ifem consists of six sentences of @ passage. The first and the sixth sentences
are given in the beginning as 51 and S8 The middle four sentences in each have been jumbled up and
labelled as P, @, R and 8, You are required to find out the proper sequence of the four seniences and mark
YO FESDORSS QUoordingly on Anstoer Sheet,

4l. B1: Chinua Achebe was born in 1930 and educated at the Government College in Umusahia,
Nigeria._
56: Chinua Achebe has written over twenty books, including novels, stories, essayvs and collections
of poetry, and won the Nobel Prize for literature.
P : During the Civil War in Nigeria, he worked for the Biafran government service.
Q: After the War, he was appointed Senior Research Follow at the University of Nigeria, Nsukka,

K : He joined the Nigerian Broadcasting Lompany in Lagos in 1954, [ater becoming its Director of
External Broadcasting,

5@ He received a BA from London University in 1953 and in 1956 he studied broadeasting in
London at the BBC,

The: correct sequence should be

ia} SRPR
(b} RFQS
(el  PQRS
(d) QRSP

42. B1: "Every person earries in his héad & mental model of the world — a subjective representation of
external reality.” writes Alvin Toffler in Fufure Shock.

&6: When we begin to think we can do so only because our mind is already filled with all sorts of
idens with which to think,

F: It organizes our knowledgs and gives us a place from which to argue,

Q : This mental model is, he says, like a giant filing cabinet.

R: It containg a slot for every item of information eoming to us.

&1 As EF, Schumacher savs, “When we think, we do not just think; we think ideas.®

The correct sequence should be

{a) PSRQ
(b) SPRQ
e} QRPS
d) RQPS

PLKI-F-ENG [B=A)




Biology 18 the study of life in its entirety,

Classical descriptive and clueless biology found a theoretical framework in the evolutionary
theory of Darwin,

In later years, the foous was phystology and internal morpholegy or anatomy.

Darwinian ideas of evolution by natural selection changed the perception completely,

. The growth of hiology as & natural science during the last 1000 years is interesting from many

Emi ata of view,

One feature of this growth is changing emphasis from mere description of life forms to
identification and classification of all recorded hiving forms.

The correct sequence should be

q :

B:

g

RSPQ (b  SPRQ
QRES {d} PQRS

Biology is the youngest of the formalized disciplines of natural ecience.

Life axpectancy of human beings has dramatically changed over the years.

However, the twentieth century and certainly the twenty-first century has demonatrated the
utility of biological knowledge in furthering human welfare, be it in health sector or
agriculiure,

The diseovery of antibiotics, and synthetic plant-derived druge, anaesthetics have changed
medical practice on one hand and human health on the other hand

Applications of physics and chemistry in our daily life alze have a higher visibility than those
af biology

Progress in physics and chemistry proceeded much faster than in bislogy.

The correct sequence should be

(s}

L)

R:

o

QPRS (b} PRQS
RPOS idy SRPQ

People in society need many goods and services in their evervday life including food, clothing,
ehelter, transport, ete.
The teacher in the local sehool has the skills required to impart education to the students.

. A weaver may have some varn, some cobton and other instruments required for weaving cloth
: A Tamily farm may own a plot of land, some graing, farming implements, maybe a pair of

bullocks and also the labour services of the family members.

Every individual has some amount of the goods and services that one would like to use,

In fact, the list of goods and services that any individual needs is so large that no individual in
gociety, to begin with, hag all the things ono needs.

The correct sequence should be

ial
el

PQRS () HSPG
QFSH id} SRGP

PLEI-F-EMN PH—A)




48. d1: Farming is the main prodoection activity in the village
86 : The new ways of farming need less land, but much mere capital.
P: Thess have allowed the farmers to produce more craps from the same amount of land,
& : Ower the years there have been many important changes in the way farming is practised.
H: But in raising production, a groat deal of preasure has been put on land and sther natural
reS0UTtEs, -
8¢ This ia an important achisvement, slnce land is fixed and searce

The cirrect sequence should b
(u} QPSHE b HEPG
(e} SRPQ idh PRS0

47. B51: BHritain was the first country to experience modern industrinlization
56 : This gave people a wider choice for ways to ppend their earnings and I':'.'|.'l|'.1nd'l'."d the merket for
the sale of goods,
F: Thizs meant that {he kingdom had common laws, a gingle currency and & market that was not
fragmented by local authorities and uneven taxation
Q : It had been politically stable since the seventeenth century, with England, Wales and Scotland
unified under & monarchy,
R: By than a large ssetion of the people received their income in the form of wages and salaries
than in goods
5! By the end of the seventeenth century, money was widely used ns the medinm of exchange,
The correct sequence should be

lal QPSR (b} PSQR
¢} RS5QP {d} SERQP

48. 51: Foreeveral million vears, humang lived by hunting wild animals and gathering wild plants,

856: As a rosult, conditions were favourable for the growth of grasses such as wild barley and
wheat.

o

: Thig led to the development of farming and pastoraliem as a way of life

Q : This change took place because the last ice age came to an end about 13,000 vears agoe and
with that warmer, wetier conditions prevailed,

B : Then, between 10,000 and 4,500 years ago, people in different parts of the world learnt fo
domesticate certain plants and animeals.

5 : The shift from fornging to farming was a major turning point in the human history.

The correct sequence should be
(a} GSPR i SPOR
el PEGR 1 B RP8GQ

PLEI-F-EMG (10=A)




49, B81:

i

All governments claim eternal eonsistency and success

Diplomacy offers choices, and those choices must be negotiated with other sovereign actors

P Choices involved uncertainty, risk amnd immediscy; those who must take the choices operate in

Q!
B

8:

the contemporary political miliew.

*And yet the essence of governance is choice,

Nowhere is this more true than in foreign policy decigion-making.

Same even claim amniscience,

The correct sequence should be

Lk
ib)
[

(el

-

SQFR
QSRP
SRPQ
RSPQ

Buddhism continued to spresd into many lands of Asia during the period of .'u'l' and

ﬁlh contury

He translated several seriptural commentaries into Pali and wrote a work called the
Vizsuddhimagga, which soon nttained the status of a classic work on Thersvads doctrine and
meditation.

While this can be understood ss a part of larger proceases of cultural intersetion, eapecially

trade, 8 key role was playved by monka.

. We know a little bit about some of thern, but there must have been conntless men whose

commitment to the Buddhist path gave them the courage and determination to persevere in

the face of the long, hard journey to India and back

Buddhism had made its way to Sri Lanka many centuries earlier, during the time of Ashoka,
and a thriving Buddhist community seon took root.

In the 5 century, the monk Buddhaghoshs travelled to Sri Lanka,

The correct sequence sheuld be

L
(M7 }]
el

'.d_|

RQPS
QRPS
PQRS
PSRQ

PLEl-F=EMz (11=-A




FILL IN THE BHLANKS
Directions : Each of the following sentences in this wection hay a blonk space and four words er group of
words are given after the sentence. Select the most appropriote word or grows of words for the blank Epace
aved brudicale your response on the Answer Sheet aceordingly,

61. On his way to the capital, the minigter | 58. The chairperson sald that the Eroup was
the eminent sorial worker at g rosidence ol time.
{al ecalled on (i) running out
ik callad b Fusiing
¢} ealling for (e} running with
idi call off id) run out

82. The fire brigade fought for four hours to 57. If I an el T i canien A

the fire in the building. probliie of peenle

{a] puotin . m

(b} put out )

L) FFULE 1

(d)  pat off

L i WAL

(dy  have
G63. HRavi has proved that he can ___on his
prsiiine b v this wiatad. | i8. Where thereisa __, there is a way.
{al  ecxrry through L, ey
(b parry out (k) road
Lk CATTY bk WARS
] carry off W) will
d4. It ie best to _ politics when in the | 59, The police could not establish how the
elagaroom, acciden| - -
{a] |kespout {a) came off
b} keep on {b)  came about
le}  leep off (e} cameon
id} |leeping [ 1 e T

66. [t shows that she has MENY VEArs

of service. 60. 1 __ my old friend after twenty years.

' &l i
{gl put in a ran imnto

(b} put out (b} ranin

e} put el munin

(b put on | td) g

PLEI-F-ENG (12-A)




BEYNONYMS

Directions : Each item in'this gection consists of a sendence with an underlined word followed by four
ewords/growg of words, Select the oplion that iz nearest in meaning fo the underlined word and mark
v regporse on the Arscoer Sheet accordingly,

61. All the developments that took place in the
Eﬂd-' century have had |:r:||]:|||'r4|l|.|:|r|?| for the
mazt eentury.

@) COTMM] RN
(b} interferences
() feedback
{d} planning

62. He is such & leader that his actions are
contagious,

(n] complicated
{bl transmittable
{e]  effective

id) unthinkable

B88. The budpgel incorporated s number of tax
reforms which included higher taxea for the
very rich,

{a) excluded
{b) integrated
el laid down
{d} removed

64. His thesis makes all generic statements which
have already been proved.
{al specific
k]l erade
(el  broad
{4}  non-standard

85: The captain produced yet another stellar show
to make her team enter the semi-finals
{a] - extraordinary
bl t:l;ll.pni'

(gl poor
(d} mnotagreat
PLEIF-ENG
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A new show is trying to change the clichéd
de*p‘ic:l‘.mnﬂ. of women 1n animation,

{al original

b} ‘hackneved

el Cromy

td) artohcial

Mot evervone finds a voestion which saits
ane's aptitude.

ial attituda
{bl  appromch
(e} liking

id} occupation

had
commuters from the outskirts to the city and

Uninterrupbed  rain fotigued  the

work suffered

(] exoited

(b} refreahed

ted  slowed

{dr exhausted

The leader gaid, “1 am aghast with the

dquh:prm*nl.u an far, 1 will take time to
understand this.”

{al eatisfied

hl  snd

{ed amuged

(d)  horrified

The cauvse of the accident is yet to be

pscartained, but police officials suspect the
driver of the vehicle allegedly fell asleep

(al determined

(bl eurtained

iel thought of

{d} being known




ANTONYMS

Dhirections ; Eoch iem in this section consists of sentences with an urderiined word followed &y four words
ar group of words, Select the option that iz opposile in meaning o the underlined word and mark your

n".:ll,':nnnr' il fnil.l' JIJ?RH.'\-I'J' ."::-'Fl:r'.rf ﬂ“‘flr&lflg{ﬁ.‘_

Tl. Early medigval perind was not a combination | T8,
of urban and rural civilization. It was not a |
period of urban decay as claimed by some. |
(n} survival
iby waste away
(e}  decomposition
{d} s=paoil

7.

T2. He gpeaks eloguently and can pull crowds.

{a) confusingly
(b expressively
(e) powerfully

{d} Nuently

T8. Eweryone has to fght the inertda in the | TE
gvstom
ta) sluggishness
ib)  indolence
() RCEIvILY
(d) torpor

74, There is a need to promote philanthropy in | og
i:durnl'.i.un.
ta) charity
(b}  beoevolence
(g}l nastiness
d}  likeliness

T6. What we Inck in the current times is a0
compassion. i
{a)  ompathy
b} carefulness
fed  indifference
id) hardship

PLEI-F-EMNG (14 - A
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in any place.

(a] relaxed

(bl  passionate

(2] intensa

(dl windy

Wooing everyone over an issue for support
will not serve much purpose

(a) diseowrsging

(b} encouraging

LI 9 PILEFSEIETNED

idl persuading

The highest award was bestowed upon her for
hee YeOmAan sorace,

(a) conterred

(b}  withdrawn

(¢} mmparied

(d) in:|.|:|:i|:|1=r]

work.
{n) feels pood

{b) excited

{el doprossed
id} sbober
All business aetivitiee meed not result 1n

profit-meking, There 13 a noad to be
charitahle

nl  lement

(b} melevolent

(i} unforesesn

id) gracious




PARTS OF SPEECH

Direcitions : Each of the following sentences has g wrord oy plirase underfined. Read the sentences carefilly
and find which part of specch the underlined word belongs to. Indicate your response on the Ansiodr Shiet
BECOr gy

#1. He has been working in the Department of | 86. When he reached the department, the officials

Foreign Affairs since 2002, I had left for the meeting.
(a) Adverb | (a} Past perfect verb
bl Adjective ihy  Past tenze

(el Intensifier e}  Dwpendent clause
(dy Noun | id) Independent clause

82. The man in dark blue is the one who made us | 87. He has offered her ansther chance.

win the maich. (gl Imtransitive verb
in} Relative clause ibl  Past tense

ib} Interrogative pronoun feh Perfect tense

ig) Relative pronoun idl ‘Transitive verb

idl Affirmative
88. The building is very ancient.

B3. The most beautiful actor of the industry was in) Transitive verb
awarded todiy, (b] Intransitive verb
ta) Adjective {¢) Phrasal verb
(hi MNameral (d) J"n‘l.l?li]‘lll‘lr.ﬁ" wverh
ey Adverb

: 89. Hurrah! What & eciotillating beauty the
idl Noun e
la r||.‘|:-:|.‘u;.1|" ig |

Bd4. “What s the latest news 7 asked the Captain. () Conjunction
fal Halative pronoun (b}  Adjective
(bl  Adjective | (e} MAdverb
e} Adverb (d} Interjection

dy Adjectival clause _ : :
0. HRavi was declared as the winner In the tie

B6. Noticing the change in the behaviour of the because he had hit the most number of fours
officer, the eadets returnod to thedr positiog, and sixes
(m} Pa rl.lci.pl.u im) Conmjunetion
(b} Pressnt continwous (hl Interjection
&) M F:nl'l.l.'.ll.ﬂ" i) Adverh
(dy Noon (di Caose

PLEI-F-ENG [(185-A])




SPFELLING MISTAKES

Lirections ;: In ihis section a word iz spelt in four different wavs, Tdentify the one which iz correct, Choose
the correct responiae (a), (b, fe) or (d) and indicote on the Answer Sheet accordingly.

#1, Which one of the following alternatives has | 98,
the correct apelling ?
(o)  Continuom
bl Continoem
il Contuneim
id] Continueiam
B2. Which one of the following alternstives has | 97.
the correct spelling ¥
la) Stretegy
(bY Siretagy
{e] Biratagy
{dl Strabegy
33. Which one of the following alternatives has | 88.
the correct gpelling 7
(al Commisionor
(b  Commisioner
(cy  Commisajioner
(d} Comissioner
B84. Which one of the following alternatives has | 989,
the rorrect apelling 7
i) Vacum
(b} Varuum
(e}  Vacuem
(d}  Yacam
B85, Which one of the following alternatives has | 100.
the correct spolling ?
fa} Peephology
(bl  Pesfoloagy
¢l Bephology
idl Psyphology |
PLEI-F-EMG [ 18 =AY

Which one of the following alternatives has
the eorrect spelling 7

(n} Nowphrology
(b} Nephrology
(e}  Neprology
(d} MNeaprology

Which one of the following alternatives has
the correct spelling ?

ial Psudonym

ik} Pssudonym
(e} Pasudanym
idl  Sesudonym

Which one of the following alternatives has
the correct apelling 7

&l Prumonia
(bl  MNeumonia
{e) Pneamonin
id] Numania

Which one of the fallowing alternatives has
the sorrect H]’.!:'"'iTl.g |

(@) Resibent
[k} Resiling
(&) Hisilient

{d} Henlisent

Which one of the following alternatives has
the correct spelling 7

{a) Buplementary

(b}  Supplementary
e} Supplementiry
d) Supplemantory




TRANSFORMATION OF SENTENCES

Directions : In this section fwo sentences are given and vou are required to find the correct sentence whick
combines both the sentences. Choose the correct response (o), (b, (o) or (d) and indicate on the Ansuer Sheet
ccenralingly

Lo,

L&,

16d.

el Parenta are waiting to  meet  the |
counsellor in the morning,
(d} Parents have been waiting since
morning to meet the counsellor,
PLEI-F-ENG

Which ig the correct comblination of the Eiven
two sentences 7

The officer will return from China un Monday.
You can mest him

ind You ean meet the officer when hbe

returned from China on Monday,

sl You can meet the officer when he will
roturn from China on Monday.

(el You can meet the officer when he
returns from China on Monday,

idl The officer will meet you when you

returm from China on Monday:

Which i the correct combinntion of the given
two sentences ¥
He is hard-working. He is honest too.

i) He is mot only hard-working, but also

honest,
(b} He is only hard-working and honeat.
il He i= h:‘:lr-l.:l-'u.-d:-rhmg but honesat ton
id)  Heis not herd-working but alzo homest

Thich 8 the correct combination of the given
two senteness
Parents have been “‘ﬂir.i.rtH SnCe MOTNIng
They want to meet the counsellor,
(a) The counssllor has been waiting to meet
the parents since marning,
(b} Parents had been waiting to meet the

counsellor since the morning.

104,

155,

{17 =—A)

Which is the correct combination of the given
two simple sentences using ‘17 clamss 7
Minchi should hove worked hard. She would
have eleared the tesat,

iy If Minchi had worked hard, she would
hiave cleared the test,

(b} Hnd not Minchi worked hard, she coald
not have cleared the Lot

() If BMinchi has worked hard, she would
hivve cleared the test.

(d} It Minechi had worked hard, she will

hawve clearad the test

Which one of the I'q:-|||:lwir|.|q in the corroct

statement combining the two statements
using ‘though” 7
He has been trying his lewel best o win He

could not suseend

ia) Though he is trying hig level bost 1o
win, he could not suceeed.

ibi Ha iz trving his level best te win,
though he could not pucosed.

L) Thougith he has been tryingg his lewel besd
to win, hie could not succeed.

(dl  Though he had been teying his lewel

best (o win, he could not sueceed.




1M5.

LT,

Which is the correct combination of the given
two sentences using “relative clause’ ?

Gandhiji preached peace. He is an apostlé of

peacs

(a} Gandhiji who preached pesce s an
apostle of peace.

(b} Gandhbiji preached peace becanse he is
an apostle of peace.

(¢} Gandhiji who preached peace is called
an apestle of pence.

(dl Candhiji is an apostle of peace because

he preached peace.

Which is the correct combination of the given

two sentences 7

Priva reached the station. The bus left before

108,

| 110,

her.

ial When Priva reached the station, the bus
had already left,

ib) When Priva had reached the station, |
the bus already left.

icl Priva reached the station, when the bus
already left.

{idy When Priva had reached the station,

the b hused ||.'|:r|=.r:|:E}' left.

108. Which is the correct combination of the given |
twn sontonces T
He is too tived. He soald not stand
(a} He ip 80 tired that he could secarcely
gtand
(b}  He is too tired snd cannot gtand,
{c} - He will not stand and he is very tired,
(d}@ He is so tired that he could not be
standing.
PLEI-F-ENG
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Whaeh 1s the eorrect combination of the g.'i.'-'i':l‘.l
two sentences T

This
students stopped talking.

teacher entered the classroom. Al

F:1] Mo sooner did the tencher enter the
elasarsom than the students stopped
talking,

ib) Ac poon ns the teacher entersd the
clasaroom all students were asked to
stop talking.

(g} All students stopped talking as the
teacher enters the classroom.

idd  No sooner did the stodents stop talking
than the teacher entered the classroom.

Which one of the follewing is the correct

statement of the combination of the two

pentenckd given below ueing “whereas' 7

Kavva iz interested in resding books. Hor

gister shows Interest ln outdoor games.

ia} Eavra iz interested in reading books
whereas her sister's interest is outdoor
games,

) Eavya is interested in reading books
whereas her gzister is not interested in
it

(e} Kavya is interested in reading whereas
her sister’s intersst is sutdoor games.

{d} Eawvya is interested in reading books

wheraas her sister's interest is to play

oulside,




REPORTED SPEECH

Directions : In thiz section direct spescl seniences are given ond you are reguired to find the correct

indirget speech sentence of the same. Choose the correcl response fal, (B), (2] or (d)} and indicote on the
Angwer Sheet accordingly,

11i. Rahul said to his teacher, “Madam, what is

112.

113,

the way to solve the question 7

fa) Rahul asked hig teacher what the Wiy o
snlve the question was.
ih) Hahul told his teacher what was the WY

ko solve the question.

Lop Hahul aaked to hia teacher what the way I

wiig to solve the question
idi Rahul told his teacher what the way was

to solve the question.

He zaid to his friend, “Could you pleass close

thi door ™

inl He requested his friend to eclose the
doar,

(bl He requested his friend to pleass close
the dsor.

{r] He ordernd his friond to close the
door.

{dl He wanted his friend to close the door

for him.

Raj said to Sheela, "The Sun riees in the east,”

(al Haj told Sheela that the Bun rose in Lhe
nast.,

ib) Haj told Sheels that the Sun rises in the
At

ic) Haj asked Sheela that the Sun rises in
the eagt,

{(dr Raj said to Sheela that the Sun has
arisen in the east,

PLEI-F-ENG

114,

115.

{18 =A)

Navanitha gajid to her [rends, “What a

ecintillating bemuty it is

{n} Mavanitha told to her friends that it was
a seintillating boauty

fb} Mavanithn excloomed to0 her friends
what a scintillating beauty it was.

(e} Mavanitha asked her frendz whether it
was o seintillating beauty.

(dfy Mevanitha exclaimed to her friends that

it was a seintilating beanty

The lla.pr,mﬁ gpald to the soldiers, “March
forward and aim at the peak of the hill toeday.”

ital The Captain requested the soldlers to
march forward and aim at the peak of

the hill that day.

(bl The Captain ordered the soldiers to
march forward and aim at the peak of

the hill today.

(el The Captain ordered the soldiers to
march forward amnd aim at the peak of

the hill that day.

(dl The Captain told the soldiers that they
ghould march forward and sim at the

peak of the hill that day.




116.

117.

118,

“Where were you kast evening 7 said the lady | 119. The villdge chief said to the villagers, “All of

Lo Ber maid,

(b

||‘|I

*Those who sowed the seeds lest season will
rap the harvest thas 4r,'a|,:,u:r|1|" said the leader

to her followers.

L1: B

i

He said to his manager, “Could you pleass
pass the bill this wiek ™

The lady asked her maid where ghe had |
hoen the ProvIeEs oV

The lady ashed her maid where she had :
been 1n the last evenming.

The lady asked her maid where head she I
been the svening before !
I'he lady told her maid where she |:|.:1-:ii

been to the last éevening,

The leader said te her followers thmt
those who sowed the seeds the previous
harvest that

geneon  would reap the

AR,

The leader addressed her followers that
those: who thio
previows season would reap the harvest
thi= season

I‘III\"\II' ENAT :'-i'li'l'li '.I:n:-

The lsader addressed her followers that
thoee who had sown the seeds the
previsns season would reap the harvesat
that srason

The leader adviged her followers thal

those who sow the seeds the previous |

geagon would reap the horvest this

BEHEDTL,

tal FHe told his menager that bill to be |
|
|:r:|.:_q|;:|.i. |
by He requested his manager to pass the |
bill that week.
(el He ordersd his manager to pass the bill |
that weael.
(d} He requested his manager to pass the |
hill this week,
PLEKI-F-EM(
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o need to adopt new regulatione. We will

protect our Earth forevar,”

(el

The village chiel ordered the villagers
that all of them neoded to adopt new
regulations and they would protect their

Earth forever.

The willage chief told the villagers that

mll of them npeed o |:|-:,Ir|'|'.|l RLRLLE
regulationa and they will protect ther

Enarth forever

The wvillage chief wanted the wvillagers
needed to adopl new regulations and

they would protect their Enrth forever.

The village chief told the villagers that

all of them neéeded to adopt new

regulations and they would protect their

Larth forever

The prandfather said to the bhaby, "May you

live long with all good things of life.”

The grandfather blessed to the haby
with long life and all good things of life.

The grandfather asked the haby that she
wiould live long with all gopd things of

life

The grandfather wanted the baby to live
long with all good things of life.

The grandfather blessed the baby that
she wouald live ]ll:ng with all El:ll:ll‘l r.hi_nga
of fHe
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